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Making Predictions — Questions

Name Date

Getting Ready for the Party

1. Whatis the theme of the party?
Why do you think this?

2. Who is the party for?
Why do you think this?

3. Why are they having a party?
Why do you think this?

4. Predict what costume Marco is wearing.
Give three reasons to support your view.

COMPREHENSION
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; The 2 and 4 times tables are good facts to learn together. ’

0]10101010101010)010

s

) Answer the 2 times table. One is in order, the : o It is useful to be able to
other is mixed up. multiply numbers above
: 10 by 2. Try these:

11 x 2

12 x 2 =

13 x 2 =

14 x 2 =

5 x 2 = 1 x 2 = 15 x 2 =

6 x 2 = 9 x 2 = 16 x 2 =

7 x 2 = 4 x 2 = 17 x 2 =

8 x 2 = 3 x 2 = 18 x 2 =

9 x 2 = 2 x 2 = 19 x 2 =

Complete these
doubling wheels as
quickly as you can.
Multiplying by 2 a
is the same as
doubling.

Multiplication and Division
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). How many sandwiches were sold in
total? 15 chicken were sold. Vegetarian
sold 8 less than chicken. Beef was the
most popular sandwich and sold 14
more than vegetarian.

'. A total of 96 239 fans attended
the grand final of the World Cup.
If 36 829 supported Germany and
48 293 supported Argentina, how
many neutral supporters were in
the stadium?

. Susan loves sushi! She ordered
a plate with 4 chicken and avocado
rolls, 6 California rolls and 3 prawn
rolls. Her second plate had two less
of each. How many sushi rolls did
she have in total?

a




